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|3 D|F oF 0b
20 | oF R0

ok

0

_58_




SN EET SAAMD
HH: HHSYAL(EHT SFIAMD
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 23,572 20,278 3,294
OJI=2gdR=aAb| 500,000 = 239 11,500
oOz=EHl (JI=gdl) 11,592,000& 11,592
OHIZ AR EH R AXHI 480
O™ X= AL 1,000,000& = 2CH * 8% 160
OHOIMERIE D (2et) 2,200,000& * 8% 176
OdOoI M= 2D (2et) 1,000,000& * 8% 80
OS MM 800,000& * 8% 64
02 =329l 9,460 9,600 N 140
oRHERZ 9,260
O&II 1,930& = 2,000+ 3,860
Ot 270 = 20,0004 5,400
OM=SRA H=2D| 2H M £ A=
50,000& * 43| 200
202 04| 10,800 10,800 0
01 2LHOHI 10,800 10,800 0
OJ|IEZHI 10,800,000& 10,800
203 & R =&H| 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
O©J|= (302! 0lat) 350,000& = 12& 4,200
405 XtabFE SHI 250 0 250
01 AL 2 EF SHI 250 0 250
OARa H34A8 ASHEAD| 250,000& * 1CH 250
ol 2 AH| 3,289,658 3,361,601 ANT1,943
ol 24 H| 3,289,658 3,361,601 ANT1,943
101 @121l 3,289,658 3,361,601 ANT1,943
03 RIHAZZRE 3,289,658 3,361,601 AT1,943
ostd &2 R 3,289,658
0Jle3 1,777,560% * 602 + 122 1,279,844
Oaoi3 692,196
Jlgagy
2,097,560& * 50% * 60Y * 43| 251,708
-aag
2,097,560& * 50% * 60Y * 23] 125,854
—H = Sl
2,097,560& * 50% * 60Y * 53] 314,634
[@F~ 3N/ PAFe: b= 1,777 ,560& * 25% * 60YH 26,664
[OFSR Eay=y 769,057
-SRI AMNY
90,000& » 60 = 12& 64,800
~HAHHSY 70,000& * 60YH = 128 50,400
Rt = ) = 80,000& * 60Y = 12& 57,600
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2N EET BAAMD
HH: HHSYAL(EHT SFIAMD
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
- EsE 67,200
- B2 A 40,000& = 60 = 128 28,800
- EHIS 20,000& = 160 = 12& 38,400
-AHEEHEEE 34,711
Inf= P! 433,8802 * 202 43| 34,711
e 494,346
CHEE
114,430 » 60H » 42 » 128 329,559
AMzZtel=%  228,870& * 60F * 123 164,787
O=scl=4dl 266,225
-HHZ A 160,000& * 60H * 123 115,200
- E E0H)
2,097,560 * 60% = 60 * 23l 151,025
O=d=X 100,800
-9 4l 80,000& = 60 = 128 57,600
g+ 50,000& = 60 = 12& 36,000
2= 300,000& = 2H » 123 7,200
OdxResIt=g
122,060& * 60Y¥ » 20 146,472
OSg=egt| 7,000& * 60Y = 20€ 8,400
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= o
A & 0l & A & F Al
016 20I& BN ST YYD ~ S ASY
FN: BER LS
Iu: YN IR X4
el Jt2 . 8etE |XZel (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
£E3 ALDED 10,873,476 9,318,124 1,555,352
< 100,000
Al 10,773,476
HyAEE tz@d 24 2,512,660 2,004,420 508,240
2 28 s 2el 2,512,660 2,004,420 508,240
tzgets A& & Wi 352,520 186,332 166, 188
401 AIEHI L 2 CHYI 352,520 186,332 166, 188
01 A& HI 350,000 185,000 165,000
OLED Bots &4 2,000,000& * 80H 2 160,000
OkL= Jt2 - 20t LED WA
1,500,000 * 80H £ 120,000
o= Jt2s HEJIg LA
7,000,000& » 1000 & 70,000
03 Al 2 THHI 2,520 1,332 1,188
Oz (2eh)s Ad & Wi A2t
350,000,000& * 0.72% 2,520
I2ESLS 22 2,160,140 1,818,088 342,052
201 Let24d] 1,786,980 1,566,018 220,962
01 At 22/l 32,340 32,838 A 498
OJZ2E HIILHl AHBH ==& 25,840
ozdg 49,000 » 3604 & 17,640
Onzs= 8,200& = 1,000 = 8,200
oOFEI|etM e Y =2 6,000
OHOIE AtA2l XI&HAES (650kW)
500,000& » 12& 6,000
Oz - 2Bots E= AKX II=H| 500
o= 90,000& = 29H 180
Oogst= 100,000& * 2&H 200
Ootd 3t 60,000& * 2% 120
02 2324l 1,754,640 1,533,180 221,460
OJ)N=2 - 2Bots MIIR3 1,735,200
OJH=zs 260,000& = 3604 « 12& 1,123,200
OE¢ts 7,5008 * 6,000 * 12 540,000
OHOIEAMHEl XISt E
6,000,000& = 12& 72,000
OJzs 2ee HEI| sSHe=s
4,500 * 36002 * 128 19,440
206 = Hl 71,000 50,630 20,370
01 MHZ 4l 71,000 50,630 20,370
2ots HZI 80,000& = 1004 8,000
olzsaed FEII 1,800,000 * 10K 18,000
OINYUEE &= 150W 18,0002 * 4004 7,200
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FN: BER LS
Iu: YN IR X4
el Jt2 . 8etE |XZel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OINAULEE &I 250W 20,000& = 4004 8,000
QLY UEE 2tEI| 150W 17,000& * 40074 6,800
ODNYLIEE 2+FI| 250W 20,000& = 4004 8,000
OLED S21+ 70W 700,000& = 104 7,000
OLED S2I17 120W 1,000,000& * 82K 8,000
401 Al HIZ 2018 302,160 201,440 100,720
01 A& HI 300,000 200,000 100,000
oGtz=2ets RANE=> 200,000& = 1,500 300,000
03 Al 2 0HHI 2,160 1,440 720
OJz=Eets B =& AIE&R20UHI
300,000,000& * 0.72% 2,160
ANEZgdLdAst TADIgEH 7,398,171 6,438,732 959,439
< 100,000
Al 7,298,171
S =12m0I Bt SAIHEEZ JHA 2,542,356 1,068,190 1,474,166
T 2I|EAIE &E XI& 25,037 27,786 A2,749
201 2ur2 Y| 22,997 25,246 ~2,249
01 At 2t 2l 20,241 21,741 A 1,500
OZAIAHEBA ARE 5,906
O=AEX 21,0008 = 8& Xt = 128 2,016
O&H 220,000 * 1004 2,200
OelsEdl 223 880
-3 70,000% = 100 * 43 280
- 100,000& * 674 600
OEXNOISAHAJAMNEIN =2
30& « 2,25004 » 12& 810
OEANMAER FAH=IEEE 2 S)l==2 4,735
Ogesgds+2 529,000& = 5 X 2,645
OgsEgds=R 348,000 = 5E X 1,740
OsJl+==+2 70,000& = 5E X 350
oNgde, t23E SFIM E NEBEE
AR 800,000& = 104 » 123 9,600
02 =224l 2,756 3,505 AT49
oxg *FU 1,325%& = 8L » 260 2,756
202 o4dl 2,040 2,040 0
02 0t 2,040 2,040 0
OEXNEEHE ZARA XN
170,000& = 1H » 12& 2,040
)l SRHYBN 24 825,220 306,380 518,840
201 Zet24E] 300 1,500 A1,200
02 =224l 300 1,500 A 1,200
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Fo >3 0jo
JH 1 e

2 ALZDED
DHLHSIE TADIBES
1200101 SAIHHE2 HA

SA - BB (3) - NRAL - B Of & o il HI RS2
oxsz & XN 300,000& 300
401 Al HIZ 201 8] 824,920 304,880 520,040
01 A& HI 824,920 302,720 522,200
OZANAHEEZ HYEX 24=
800,000,000& 800,000
Oxctd O0I=EXN 2= 20,000,000& 20,000
OTHAH BIS 2EL4E 4,920
OAFEI} 422
800,000,000& * 11/10,000 = 2JH2J|& * 2 3,520
3
OARZOE =2 70,000& = 20 X 1,400
ANAEEZZ HE A 1,692,099 734,024 958,075
TAIEHI &2 1,692,099 734,024 958,075
01 A& HI 1,686,339 729,488 956,851
O TAIHEZZIHE B AH(2A3-955/L=200m
,B=6.0m) 550,000
OEX 24| 550,000,000& 550,000
OZU A3 SAHEZZIHE S AH(L2-276/L=2
00m,B=8.0m) 11,000
O&EX 24l 11,000
Otlsts 388 == W& 3 AH(L=110m, B=6m) 550,000
O3 AtH| 550,000,000 550,000
OSs4 Q4 TAAHEETZ HESAH(22-355, L
=150m, B=8.0m) 10,632
O& A& A 240,000,000& * 4.43% 10,632
ONsSES TAHEZZIHE S AH(A1-54, L=50m,
B=10.0m) 250,000
O&EX E24tdl 250,000,000 250,000
OLANES TAHEZZ2IME B AHA2-387, L=120
m, B=8.0m) 314,707
O& A& AHI 192,000,000& * 4.85% 9,312
OEX &4l 300,000,000 300,000
OWaAYE 242 5,395
“FH(HBA)SZESE 52,0008 * 5T 2,645
-EEREYLLE 348,008 * 5Z X 1,740
W} 442
300,000,000& *11/10,000 = 204 J| 2 660
-SIES T 70,000& * 52X 350
03 A& =TI 5,760 4,536 1,224
OZAMABEZZHESA =& AIERUHI
1,600,000,000& =* 0.36% 5,760
c2ae 4,855,815 5,370,542 AB14,727
=) 100,000
Al 4,755,815
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FAH: E97 A4duSH
Bu: NABHLWAS SAIIBEY
ool S22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
E2EH & RAEF 2,452,772 2,358,282 94,490
101 @14 Hl 1,659 1,567 92
04 JIZHHZ2XNEE S 1,659 1,567 92
OMEZ FA YAASHQIRY
48,2803 * 2% + 34 * 500 A 1,449
OWEE ZAA 24Hl
7,0008 * 28 » 30 » 500 A 210
201 Let249] 36,843 35,415 1,428
01 At 22l 15,624 15,212 412
OLZ2FH A& A3 3,276
OZegHe &Y 220,000& = 101 = 12& 2,640
OxXZelgy 943 53,000& * 104 = 12& 636
OFHl Xtz 10,100
O&zz2H 2a2+FH| 10,100
-= 4| 560,000& = 104 = 10 5,600
g Xt 450,000& = 104 = 10 4,500
O&F2I| I ZE+E AR4A)
40,000& = 123 480
ORXYX= 168
Ods 2618 X U= 4,000& ~ 123 48
Os4tel 597-481 X Uz 10,000 * 123 120
OISt ARA HRAR(BHE)
200,000 * 8MIE 1,600
02 =224l 21,219 20,203 1,016
oStz 14,400
Oz =2ael cCTvale AFZ22(ZFEF CCTV)
1,200,000& = 12& 14,400
O ZFHIZHl KR 1,3258% * 200L 265
O &Hl &bl ==cltl 250,000& * 63 1,500
OLZ2IISE AIRY HERI
9413 » 30L = 60 1,694
o=4 HM&E&1 MIIAE=Z 200,0008 » 128 2,400
OSa HAEFED M+ AE2
80,000& = 12& 960
206 M= Hl 63,700 63,419 281
01 =8l 63,700 63,419 281
OxY T=24+2 M 63,000,000& 63,000
OEzZE+XYXL otd2els X 700,000 700
305 a2 S 5,000 5,000 0
01 BH& =S 5,000 5,000 0
OTZAE AtDEH &= 500,000 = 103 5,000
307 glz2tol & 1,440 1,440 0
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FN: BER LS
M NARFLMIB TAIIBEY
chelr T2ae CHe &2l
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 1,440 1,440 0
OSLHEED 2013 120,000& * 123 1,440
401 AIEHI L 20 2,341,130 2,233,041 108,089
01 A& HI 2,335,910 2,225,470 110,440
OM22HW~EGUHU S2IMN2I|3 AH(L=1,
200m,B=3.0m) 65,000& = 1,200m 78,000
OSYAMHe = T 2N 2|3 AH(L=300m,B=
10m) 200,000&  300m 60,000
OQF:= A 2~ H A 2I2E T2 HM RT3 AL
=730m,B=7m) 100,000& * 730m 73,000
oWz MY~EHAMHL T=THIXN RIS AH(L=
800m,B=7.0m) 140,000& * 800m 112,000
OsZAtel 2 2EFH|3AH(L=200m,B=3.5m
) 250,000& = 200m 50,000
OsydxzSsuw =¥ BT HY 3 AH(L=600m, B=3
.5m) 350,000& = 600m 210,000
0O8¥2EHES 2T HHIEAH(L=75n,B=2m)
200,000& * 75m 15,000
oO2FMES BEHAETE U S AH(L=100m,B=5.
Om) 300,000& = 100m 30,000
OZUH EHHdel g3 T2 HHl S AH(L=800m,B=1
0.0m) 200,000&  800m 160,000
OE2FH ¥ RANE=AY &AL A
788,000,000& * 3.75% 29,550
OEZRAE=HI 1,450,000
OOAEE AIE S 300,000, 000& 300,000
OXed =M 50,000,000& 50,000
OBZZAHAA SXE+ 50,000, 000& 50,000
OEZANE=E RAES 100,000, 000& 100,000
OFIF=E NI 550,000,000& 550,000
O==2AMN4 288+ 200,000, 000& 200,000
OFREZY S| 100,000, 000& 100,000
O0E0IESTA AMEE E=
100,000, 000& 100,000
OFE+=+R 459,000& = 402 X 18,360
0zt ¥ sHEZZ 0I=28X B4
50,000,000& 50,000
03 Al =TI 5,220 7,571 A 2,351
OAIZ 2 HHI 1,450,000,000& * 0.36% 5,220
405 KtabH S| 3,000 18,400 A 15,400
01 AL ESFH S 3,000 18,400 A 15,400
OISt &1 &BH4HL) 500,000& * 404 2,000
OJlser #0 2EJ1(20h) 300,000& = 20H 600
o2& 400,000& = 1CH 400
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ECD AMDEY
TRy EAs TAIDIBES
c2ae e ®H)
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ol =2 AH 814,861 1,565,795 A 750,934
401 AlEHIZL 201 Y| 814,861 1,565,795 A 750,934
01 A& H| 810,413 1,561, 151 A 750,738
o=2¢d=stnm 2 B & AH| 2 AHL=350m,B=2.0m)
500,000€ * 350m 175,000
OSUS 48 SEHEZHZA(4-1HX L) (L=3
00m,B=1.0m) 100,000& = 300m 30,000
OKNES SZ2EUMLRI|Z2AH203H XI &) (L=200m,
B=3.0m) 45 000& * 200m 9,000
ORE=E =2 &I AZ2AHL=920m,B=1.0m)
100,000& * 920m 92,000
Os=2e| M&EAEHIZ2AHL=100m, H=1.5m)
400,000& * 100m 40,000
OJIEES AICIOITIIE 2 EXAEXZ2A
20,000,000& * 14! 20,000
OJtds 202 BANEXZSA
25,000,000 * 14! 25,000
Osd=Es HIAEXZA 20,000,000 * 14! 20,000
O2ds EXNEXZA 20,000,000& * 14! 20,000
OTS OtsSot2 M| 2 AH(L=1,000m,B=4.5m
) 64,000& = 1,000m 64,000
OANS BAEZT2 HH|ZAHL=200m)
500,000& * 200m 100,000
OKrAEEs =2 & &2 AHL=70m,B=2~3m)
25,000,000& * 14! 25,000
O+ =2 =2 F Y| ZAHL=150m,B=3.0m)
100,000 = 150m 15,000
O&=2l =2 & H|ZAHL=200m,B=3.0m)
125,000 = 200m 25,000
OARE FU=RAANS(SH) 130,000,000 130,000
OFU=ZIAANY AAEHSHH|
575,000,000 % 3.55% 20,413
03 AlE 201 Y| 4,448 4,644 A 196
OAI& 20| 706,000,000 * 0.63% 4,448
we U AIEE2 A2 1,388,182 589,410 798,772
201 et Y| 110,100 96,780 13,320
02 232 4| 110,100 96,780 13,320
OCCTVaIE & SAFH MES 6,000
ORXGHAE L AlZHH ST I X (CCTV,20HA)
150,000& * 12& 1,800
OJgxd g1 SHla
350,0008 = 1J0HA = 12&€ 4,200
oOH&IIRR2 72,000
OHO0IE XotxE (Mo LsH)
600,000 = 1JOHA + 12& 7,200
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FN: BER LS
M NADSELHERAS TAIDJIBIESH
ool cRal (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O38XotxtE 3,800,000 » 1A « 123 45,600
OJ242 SD(SL, HI5)
500,000& = 10HA * 128 6,000
O2sEsW 400,000& * 12 + 128 4,800
OWgy Z2AXTH(Hotw, st=tHw)
200,000& * 1A » 128 2,400
OSZti+"ZH 200,000& » 1A « 123 2,400
Ot Sti="HEZE 300,000& ~ 104 « 123 3,600
OFJIItEe] =2 (EMHEEI Kot E)
800,000& =« 12& 9,600
Ol SXHI(6IL) 22,500
OsdJl @2 & JFANEF EY =8
200,000 * 602 = 128 14,400
OsdI 8& ==+2(4E138)
150,000& * 6K A 900
Osd) 289 =2
100,000& » 6 A « 12& 7,200
401 Al HIZ 2018 1,278,082 492,630 785,452
01 A& HI 1,274,410 490,110 784,300
Ouny LY (ML, 2AR2) 130,000
O4 D 2 80 BLEBHEY
130,000, 000& 130,000
Ouy FINEHEA(AR) 30,000
(OFNE=S=:41 PagmE=; 20,000,000& 20,000
OSZTZelHa AL (AaLD]) 10,000, 000& 10,000
Ouz WASLsH"II 84 (2, 92R)
30,000,000& 30,000
O2wZ A JIEBAES HIIHAHBH
20,000,000& 20,000
onz A A28 FANES 313,290
Oug & AEE RAEF 200,000,000 200,000
O2Wg 2 JIHHAIEE SN2+
100,000, 000& 100,000
O& A& A 300,000,000& * 4.43% 13,290
ONMEZL HEZSA 416,120
O& A& AHI 400,000,000& * 4.03% 16,120
O3 Atd| 400,000,000 400,000
OJtds AEd =8 Az AXZA
315,000, 000& 315,000
OMEDIS WOt W& 22 X 3A
20,000,000& 20,000
03 Al 2 0HHI 3,672 2,520 1,152
Cng M= Y EEBL3A AIE&RUHI
1,020,000,000& =* 0.36% 3,672
ATR XGHL A 200,000 0 200,000
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SN EH7 ALDED
M NADSELHERAS TAIDJIBIESH
ool S22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 700,000
Al 100,000
401 Al& Bl 28I 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
O&g~=2lU1s FUHAH2 2SS HHI S AH(L=1
,300m) 200,000,000& * 14! 200,000
< 100,000
Al 100,000
JUR=s Mool MZst 8 383,926 617,115 A 233,189
TH THoH Ol & 79,129 79,194 AB5
et 2 THoH 22l 79,129 79,194 AB5
201 Let249] 63,070 61,270 1,800
01 At 22l 1,470 2,230 AT760
OMt2el 22 2 70,000& * 33l 210
OTHoHCHZ HI &2 2 X S4AHI
7,000% * 2% = 15 210
OMHEE&Es 22X S &I
7,000& = 3% = 50 1,050
02 =224l 61,600 59,040 2,560
OM&ZH 2EEs(EH Ddlold)
400,000& = 59CH 23,600
OE™dH 7 100,000& = 32| = 5904 17,700
OHM& &bl =2ldl 15,000, 000& 15,000
ONM&ZH RF
1,325& = 20L » 10CH * 203l 5,300
206 M= Hl 4,059 5,794 A 1,735
01 =8l 4,059 5,794 AN1,735
OTHOHCHZ & Xt TH 4,059
OPPZIL CH (40Kg) 500 * 500H 25
OE0tH 8,000& = 1000H 800
(OFSEPN| 88,000& » 108 880
o= 6,600& * 15004 990
OE29 M 19,800& * 308 594
Odlg 33,0002 = 158 495
OMftotd M 27,500& = 108 275
401 Al HI L 2 THYI 12,000 12,130 A 130
01 A& bl 12,000 12,000 0
OMAAS X AMA 12,000
Oti+=8Z% |2
3,000,000& * 23] = 244 12,000
StEAlE DA 304,797 537,921 AN 233,124
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2N BE7 ALDED

PSP IOH':F - ot Mzs ¢
S StEAAE HA (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ot HHl & S22l 254,347 136,473 117,874
201 Bt H | 17,406 18,605 A 1,199
01 AP 22l Yl 14,650 15,100 AN 450
Ootd =4 L =2 d4l EHlLxs 5,050
O=4] 560,000& = 1CH = 5 2,800
[@I=E=DN; 450,000 * 1CH = 5 2,250
Odtd #HAXNE gk L Xt
800,000& = 1CH = 12& 9,600
02 33294l 2,756 ,505 NT49
OXsE R ZFH| 1,325& = 8L * 260 2,756
202 04| 2,040 ,040 0
02 20| 2,040 ,040 0
O=gd#ActH 170,000& * 198 = 12& 2,040
401 Al HI 2L 2 0HHI 234,901 ,828 119,073
01 A& HI 233,245 ,000 118,245
Ootd KA ZelArg 180,000, 000& 180,000
OYg & ot&EH S At 53,245
O& A& A HI 50,000,000& * 6.49% 3,245
OZ Akt 50,000,000& 50,000
03 A& 20HH| 1,656 828 828
Ot &EH L SAZAZIAY ALY
230,000,000& * 0.72% 1,656
A0HE HUIAMY 50,450 80,720 A 30,270
401 Al HIL 201 50,450 80,720 N 30,270
01 Al &bl 50,000 80,000 A 30,000
OAotd KX 2l AL 50,000,000& 50,000
03 Al& 201l 450 720 N270
Oaotd SAZelAY A& 20|
50,000,000& * 0.90% 450
ot =2t el 305,566 0 305,566
ot & Xt B2 305,566 0 305,566
Xdt= A2 22| 18,514 0 18,514
201 LEt2 Y| 3,514 0 3,514
01 At 22l Yl 250 0 250
ORXots =Z2=3Y ANz MY 72
2,500& = 1004 250
02 352494l 3,264 0 3,264
odII=2 6,000 = 1704 = 128 1,224
osae3 10,000& * 174 = 12& 2,040
401 AIEHIL 200 15,000 0 15,000
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FN: BER LS
M sl
o ot & Xlot Bs2el CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 15,000 0 15,000
OXicts &XS HE SAtH
2,500,000& * 200 £ 5,000
OXdts BEx2=2 FH ALY 10,000, 000& 10,000
Bi==Ald &EHl ¥ SXlz2te) 287,052 0 287,052
401 Al HIZ 201 8] 287,052 0 287,052
01 A& HI 285,000 0 285,000
oOtsot=& &dl & SsX2¢cl 130,000,000& 130,000
OX==Z DtSth+=2 FHl3AH(L=55m, B=0.5m/L
=45m, B=0.3m) 65,000,000& = 14 65,000
ON&ds s=0LIY == HHl 3 AH(L=55m, B
=0.5m / L=60m, B=0.3m) 50,000,000& = 14! 50,000
=S SEONS a2 Hdl 3 AH(L=55m, B=1
.2m) 40,000,000& = 14 40,000
03 Al 2 THHI 2,052 0 2,052
OltsSot== dHl & |X2el AL20UH
130,000,000& * 0.72% 936
O&=Z OIStH==2 ZFHI3A2 204 AR
CHyl 155,000,000& * 0.72% 1,116
BYSYFPH(SHT ALDSD) 273,153 257,857 15,296
el 2 208,934 184,628 24,306
oI 244l 208,934 184,628 24,306
101 14 dl 208,934 184,628 24,306
03 RIAHAZZ2HE = 208,934 184,628 24,306
okzE=x¥ 201,194
OseE(0t3) 111,821
-129 Xt 25,008,030& = 2H 50,017
-94 Xt 23,024,880& » 1H 23,025
-43 Xt 19,719,630& » 1 19,720
-3 Xt 19,058,850 *1H 19,059
Oo=¢ 36,471
-IExg 2,400
- R X 40,0002 * 3¥ * 123 1,440
- &S 20,0003 = 48 » 123 960
-BE g 100,000& = 1H = 12& 1,200
—HEZ2EsE
9,100 = 53 * 20AI12F = 123 10,920
-ofnz22g
9,100&  150% = 5% = 10AI2t = 128 8,190
-FEZ2f=xE
, 1002 = 5 » 10AI2t » 128 5,460
- i
30,296,430 / 3652 * 5 x 20 8,301
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SH: 27 AMDED
M. HMSAHH|(EE R HEWED)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(OPGERIPN=] 1,792
-1 S&HM 448,000& * 1 * 43| 1,792
OY &SIyl
25,008,030 / 128 * 60% * 5H * 23] 12,505
SEEEN
25,008,030 / 12&€ * 10% » 5 * 128 12,505
OJFA X & Hl 175,000 * 5 x 12& 10,500
O =&l 130,000& * 59 = 12& 7,800
OuWEH| 130,000& * 5Y = 128 7,800
OFAMX XIZd 500,000& = 5H 2,500
oxz24+3d 1=t 1,390
Oo&g= 90,000& * 5H 450
O=29 15,0008 * 5% 75
O2otd gt 60,0008 * 5% 300
O& st 13,0008 * 5Y 65
ogst=s 100,000& = 5H 500
oc2=+d S2X 24|
7,000& = 5 * 110 3,850
Jl=23tl 64,219 73,229 AN9,010
Jl23Hl 64,219 73,229 AN9,010
201 et A | 38,319 49,049 A 10,730
01 AtR 22l bl 27,084 37,934 A 10,850
©J|I=dHl (S&dl) 10,584 ,000& 10,584
OJI2gds8 Ss3| 500,000& = 33 16,500
02 3524t 11,235 11,115 120
oORERZ 11,235
O gt 270& * 10,000A 2,700
O&I 1,930& * 4,000 7,720
OsJI2H gt&ss 1,630& * 5004 815
202 04| 20,520 17,280 3,240
01 2L Y| 20,520 17,280 3,240
OJ|IEZ&HI 20,520,000& 20,520
203 YR =&Y 4,380 4,200 180
IEVETEES 4,380 4,200 180
OJ|=H(33H) 365,000& = 12& 4,380
405 XH&HF S HI 1,000 2,700 A 1,700
01 JHMY = EF S HI 1,000 2,700 A 1,700
OF A 250,000& = 2CH 500
O&Z | 100,000 = 50H 500
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2

O0=332gHl 6,096
Osoletsz 1,630& = 508 » 12& 978
Os7l 1,930& * 2008 » 12& 4,632
Og et 2703 * 1508 ~ 123 486
OH#F AR EHl S AHI 984
O& X = A 5,000,000& = 201 = 8% 800
OelE| 2,300,000& = 104 = 8% 184

202 o4dl 15,120 9,720 5,400

01 = LH 4 Hi 15,120 9,720 5,400
O©JIZEZH 15,120,000& 15,120

203 YR =2t 4,200 1,050 3,150

04 EAS2IYRFLH| 4,200 1,050 3,150
©J1&2ZHI(302! 0lat) 350,000& = 123 4,200
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